
Assembly parts

For the attachment of: Dimensions Description Model No. Packs 
of

- Horizontal rails to side panels
- Divider panels to horizontal rails
- Horizontal rails to vertical supports

M4 x 12
Panhead self-locking 
screw similar to DIN 
ISO 7045-8.8-Z-A2F

3654.300 100

- PCB holders (plastic) to type V/VI handles,
bottom

- PCBs to PCB holders (plastic)
M2.5 x 10

Panhead screw
ISO 7045-4.8-Z-A2F 3654.330 100

- Connectors to Z rails
- Z rails to horizontal rails
- Type V/VI handles to partial front plates,

bottom right for > = 5 HP
- Aluminium guide rails to horizontal rails

M2.5 x 6
Panhead screw
ISO 7045-4.8-Z-A2F 3654.340 100

Aluminium guide rails to horizontal rails 
(fastening of square nuts) M2.5 Retaining cage 9901.417 100

Connectors to PCBs M2.5 x 12 Panhead screw
ISO 7045-4.8-Z-A2F 3654.350 100

Guide rails (plastic) to horizontal rails M2.2 x 6 Screw for plastic
WN 1413 3654.360 100

- Flat front panels to handles type V, VI
- Aluminium guide rails to horizontal rails M2.5 Square nut

DIN 562-11H-A2F 3654.370 100

Flat front panels to horizontal rails M2.5 x 11 Collar screws (cheese-
head) and plastic collars 3658.160 100

sets

Plastic collars

Covers to mounting blocks M3 x 6 Csk-screw
ISO 7046-1-4.8-Z-A2F 3684.233 100

Covers to side panels Mounting block 3684.234 10

M 2.5 x 5 3686.924 100Panhead screw DIN
ISO 7046-4.8-Z-A2F

Spring and contact sections on 3-part 
front panels without countersink

- Holder (horizontal assembly kit),
for horizontal rail

- Vertical supports to horizontal rails

Csk-screw similar to
DIN ISO 7046-1-4.8-Z-
A2F

3686.917 100M2.5 x 8

Fastening the threaded inserts in horizontal rails M2.5 x 8 Grub screw
ISO 7434-14H 3687.020 100

EMC front panels to horizontal rails 3687.050 100slotted

Centering screw, 
posidriveEMC front panels to horizontal rails

M2.5 x 11

M 2.5 x 11 3687.051

Type V/VI handles (aluminium) to front panels

100

3687.146 1 set
M2.5 x 6

M2.5

- Panhead screw 
ISO 7045-1-4.8-Z-
A2F

- Bracket

- Square nut
DIN 562-11H-A2K 




